Mérési
azonosito

H295-B377
L955-N160
S5889-F292
N468-R131
B732-L193
R332-R750
V813-C496
L442-X759
0313-5794

M277-P325
E124-W665
M559-V816
F819-X375
T757-U154
P462-D644
G437-A357
G538-N810
W114-M658
K322-T797
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Osztaly
jelolése
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1. 2. 3.
feladatrész feladatrész feladatrész
pontszdma pontszdma pontszama

20 20 11

20 20 18

17 20 19

n.a. n.a. n.a.

19 20 13

16 16 14

16 20 17

18 18 18

17 19 18

13 11 11

19 20 19

19 18 15

18 20 18

20 18 17

20 19 16

14 18 13

n.a. n.a. n.a.

14 17 17

20 15 18

A kotelezé
feladatrészek
alapjan
maximalisan
elérhetd
O6sszpontszam

60
60
60
0

60
60
60
60
60

60
60
60
60
60
60
60
0
60
60

A kotelezé
feladatrészek
alapjan elért
Osszpontszam

51
58
56
0
52
46
53
54
54

35
58
52
56
55
55
45
0
48
53

Nyelvi
szint

A2
A2
A2
A2
A2
A2
A2
A2
A2

A2
A2
A2
A2
A2
A2
A2
A2
A2
A2

Mérési
eredmény

Megfelelt
Megfelelt
Megfelelt
n.a.
Megfelelt
Megfelelt
Megfelelt
Megfelelt
Megfelelt
Nem felelt
meg
Megfelelt
Megfelelt
Megfelelt
Megfelelt
Megfelelt
Megfelelt
n.a.
Megfelelt
Megfelelt

Mérési
eredmény

85%
96%
93%
n.a.
86%
76%
88%
90%
90%

58%
96%
86%
93%
91%
91%
75%
n.a.
80%
88%



